Part I/ ST I
Mathematics / U

If f(x)+2 f(1—x)=x*>+1, ¥ x € R, then
the range of fis :

Let A={z e C: |z|=25} and

B={z € C: |z+5+12i|=4}. Then the
minimum value of |z—w|, for z € A and
weB,is:

1 6
@ 7
@) 8
@ 9

If the product of the roots of the equation,
%2~ 5kx + 2e2102ell =1 =0 is 49, then the
sum of the squares of the roots of the

1.

I f(x) +2 f(l—x)=x2+1, ¥ x e R &
forg, <t f U ©

o (-3

o [5)
o %3
o [5)

AT A={z e C: |z|=25} 9
B={zeC:|z+5+12]=4} % W ze AT
® € B3 T8 |2 — 0| 1 =W A ©

(1)
2
(3)
(4)

O 0 N Oy

Ife WHTETOr ¥2—5kx + 2208kl —1=0 &
T 1 OGS 49 ¥, A THE F qA F
El"'ﬁ'oﬁi'éfl‘T%:

equation is :

(1) 525 (1) 525
() 527 (2) 527
(3) 576 (3) 576
(4) 627 4) 627
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4, If

determinant of the matrix adj(2A) is equal

(4)

5. Let S be the set of all real values of \ for
which the system of linear equations

has infinitely many solutions. Then, S :

(1)

@)

@)

(4)

2 52 152
A=|(4 106 358|, then the
6 162 620

2048

4096

Ax+y+z=5\
22\x+2y—z=1

3y+z=9

equals R.
is a singleton.
contains exactly two elements.

is an empty set.

2 52 152
AA=14 106 358|% A MEadi2A)
6 162 620

1 §RU (Determinant) SRR % ;

1) 64
@ 256
(3) 2048

4) 4096

A\ % et arafas wR w5 g S E

e e e gt e
Ax+y+2z=5)\
Ax+2y—z=1
By+2z=9
% IFAATAE, WS :
0)) R%m%r

(2) THA WA (singleton) B
(3) AT o ¥

(4) U fEaag=g3)
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In otder to get through in an examination
of nine papers, a candidate has to pass in
more papers than the number of papers
in which he fails. The number of ways in
which he can fail, in this examination, is :

(1) 128
(2) 255
(3) 256

@) 9x(8)!

Let T, denote the rth term in the binomial
expansion of (a+1)%. If

125
Tos+Tor= 75 To

then the sum of all the values of a is :

(1)

P | =

(2)

M| wa

G 2

M|,

©)

@

9 WY TSI S T W I w & oy, uw
qienef =1 37 UvR w3+ e el g
& 7, 3O AU WIH TE H e 21 STava s
%1 39 Then ® Aol €9 % wliel S e
?: '

1) 128
(2) 255
(3) 256

@) 9x(@8)!

(a+1)%0 % f5ug WER & 91 r & 9§ T, ¥
qfg

125

ash 9l 9 w1 AN ©
1
® 3
2
2
@) 2
5
@4 5
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In an ordered set of four numbers, the first
3 are in A.P. and the last 3 are in G.P,,
whose common ratio is 7/4. If the product
of the first and fourth of these numbers is
49, then the product of the second and
third of these is:

(1) 60

(2) 112

(3) 128

(4) 144

If & (sinzx +sinr+sin®x+. . .+ad inf.)loge2

[0 <x< -121] satisfies the equation,

TR GETSl % TS whivd W =g | 99 3
T & H € qen oifey 3 iR &< ¥
et wreieTEE 7/4 1 afE 3 9 yem e
<heft Genell &1 EEE 49 €, @ ol au
et demsl w1 e €

(1) 60

@ 112

@) 128

(4) 144

fe o (sin2x+sin4x+5i116x+. . +3Td ) loge2

(0<x< %) gHIHI 2 -5y +4=0 1

sinx

y>—5y+4=0, then Etmi_%x_ is equal e i g, ——— - TR T
to:
M ~i@+<E) 1) -@2++2)
@ -K2+1) i QY N |
@) J2-1 @) V2 -1
@ 2+V2 (4) 2+2
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i)
10. Let f(x)= x[;] for all x (# 0) € R, where

11.

12.

for each t € R, [t] denotes the greatest
integer less than or equal to t. Then:

1 Hm f@)=0

x—0+
@ enSE=t
3) xﬁ_)?_f(x)=1,

@ Jm flxy=1

x—2-—

72* —9* —8* +1
N2 = J1+cosx ’
k+/2 log.2log.3,x =0

x#0

If f(x) =

is a continuous function in the interval
[0, 27), then k is equal to :

(1 4

@ 18
@) 24
4) 36

If y=y(x) is an implicit function of x given
by ycosx +xcosy=r ; then y”(0) is equal
to:

1 m
2 -
@ o
4) 2w

11.

12.

10. HF 9t x (2 0) e R & AT f(x)sz],

& Y% t e R % T [t] 9o =g quiish
T LS ¢ F T ATt A BT

M S0

& Sndwe?

lim fx) =1

©) T

(4 MM fx)=1

x—2—

TP =g g% 41
e \/1+cosx ’
k2 log.2log.3,x =0

st [0, 2r) H Gad Herd €, o k SUeR R

Ifg f(x) = x#0

iy 4

@ 18
(3) 24
4) 36

e y=y(x), x H TF S (implicit) e
Rl ycosx +xcosy = &I & g ¥’ (0)
TR R

1)
@ -
@) 0
@) 2w
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-

14.

15.

M 1
@ 2
B 3
4 4
Let
eI e—I
I= |l 4———dx, J= dx
_[e4x+ezx+1 J.e_';‘r+e—2r+1

then, J—1I equals :

ik e4x—e2x+l

—lo +C
0 g ee e e

2x x

1 e~ +et+1

—1 +C
(2) g e —e¥ 11

1 eX—e* 41

= lo +C
W g e e re® 11

1 e4x+ez"+1

~log, [—— i
& g et ey

For each x € R, Tet f (x) =[x~ 1|, g(x) =cosx
and ¢(x)=f (8(2 sinx)) —g(f (x)). Then, ¢
(1)
(2)
(3)

@)

differentiable at each point of R.
not differentiable at 0.
not differentiable at 1.

differentiable only in [—E,

%
18

If f (x) =|x2—16]| for all x € R, then the total
number of points of R at which f+R-R
attains local extreme values, is :

(where C is a constant of integration)

13. 9t x e R & foauw wm f(x)=|x=1|,
8(x) =cosx T ¢(x) = f (g(2 sinx)) - g(f (x))
({2 )4

R % W% fiig W srawerty 3

0 W Taserg T4 &)

1 R STaserg 78 &1

aaa[ L “Jffaaamqh%;

@)
@)
®)

(4)

2'3
14. aﬁmﬂxeR%Mf(x)={x2~16|%,a’rR
& ¥ figell =1 Yo Wl £: RoR, wria
T (extreme) TH ST &, ¥ -

1 1

@ 2
G 3
() 4

15. WM
[= e”

e e2¥4q
g MI-IsueR .

—X

P s

dx, J
Je ez

o -—ez"-l-ll

e4x+e2x+1,

1
(1) E loge +C

2x

X

+e*+1
—e* +1

e

1 ;

(2) E lOge + C
e —e* +1
24 e¥ 11

1 ;
(3) E‘ IOge +C

e

e e 41

ef* — o2 +1

ol o

1
4) 7 loge

(SRl C T% qme o 8)
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1 ] f 1 2
16 B §oF e vy, viigs e | 16 i PSR S R e
0 1% 0 1—=%
ordered pair (m, n) is equal to : T (m, n) R & :
i 1 1 1
@ (33 M (33
L 2 1 2
@ (353 @ (33
11 11
® |33 ® |23
[l 1) (l 1)
4) 8 3 4) 8’ 3
17.  The area (in sq. units) of the region | 17. &&% 12y=36—x2 91 3§ W = fogstl, swf
bounded by the curve, 12y=36—x2 and T x-AY B g wE W G T
the tangents drawn to it at the points, TREsil o ot A &5 ST (=t swa)
where the curve intersects the x-axis, is : )%
(1) 12 (1) 12
2) 18 ) 18
@) 27 B) 27
“4) 6 (4) 6
18. Let y=y(x) be the solution of the | 18. Tm y=y(x) 3TEHa GHIHI
differential equation :
x log.x g—i{ +y=3x lbgex, (x>1), x log.x % +y =3xlog.x, (x > 1)
If y(e) =0, then y(e?) is equal to : FEA T AR y(e)=0%, A y(e?) s & -
(1) e? (1) e
1 1
@ 5 B .5 e?
3 o 3 2
@) e @ e
(4) 32 (4) 3e2
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19.

20.

21.

Let the straight lines, 5x—3y+15=0 and
5x+3y—15=0 form a triangle with the
x-axis. Then the radius of the circle
circumscribing this triangle is :

8
1 3
@ 3
® T
16
4 5

The mirror image of the circle
x24+y2—10x—10y=0 in the line
x+y+5=0 is a circle passing through the
point :

1) (=3
@ (=9
3 (=3
@ (=9

=7)
=7)
—11)
—11)

Let S be the focus of the parabola,
x2+8y=0 and Q be any point on it. If P
divides the line segment SQ in the ratio
1: 2, then the locus of P is :

(1) 9x2+24y+32=0
(2) 9y2+24x+32=0
(3) 32x2+27y+36=0
(4) 32y2+27x+36=0

19.

20.

21.

A YW 5x-3y+15=0 @97
5x+3y—15=0 U1 x-HY F WY TF FHy=
- o ¥, @ 39 Biye & wRan w e e
8
@ 3
17
@ 5
12
@ 5
16
4 7

E["ﬁ-.: x2+y.2—10x—10y=0 F1 G
x+y+5=0¥ gdu yfafsa ww g9 & < fow
fig A dm o §, o ¥ -

{ (=&
@ (-9
G (=3
@ (=9

=7)
~7)
=11)
~11)

HAT TEEE 224+ 8y =0t AW S T 721 QW
wE foig ¥ A fgp, @mEs sQ®i1:2
& g o giea ¥, @ P fogua

(1) 9x2+24y+32=0
(2) 9y2+24x+32=0
(3) 32x2+27y+36=0
(4) 32y?+27x+36=0
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22, Letfe (0, g) If the eccentricity of the

23,

hyperbola x%cos*0 —y?=6cos20 is /3
times the eccentricity of the ellipse
22 +y2 cos20 =30c0s20 then 6 is equal to :

® =

@ 5

(3) cos ! [%]

@ 3

I the line *= = L2 "2 Jies in the

plane 2x +1ly+mz=16, then 1?2+ m? is
equal to : '

1) 16
@ 20
@) 98

4) 85

22, HMI 'B&(O,-E—]I afg  sfguiaea

23.

x2c0s%0 —y%=6cos?0 I Ichadl, e
2%+ cos?0 = 30c0s20 i Iehxdl H /3
'Tﬁ %, A 9 SR ¥

m 5
@ 7
1 1
(3) cos (ﬁ}
@ 3
g1 ) rkd =i
afe @ radetey e ML

2x+ly+mz=16 # f@ T, & 2+ m? SRR
B

1 16
@ 20
B) 98

4) 85
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24. The equation of the plane passing through | 24. 3§ ¥WHAA FT WHHIU, S FHIA!
the line of intersection of the planes ?-(2?_3}+4E)=1 G ;)(?_.?) 34=0
Flol-aheablot and 241-3) + 00 = afred Yar A e W 8, a0 S
and perpendicular to the plane ?-(2?—?_2) +4=0 & FeEd %, T
3 AA A .

r -(2;‘—;—1:) +4=0,is:
- .
@  (}-2f+ah) =3 ®  7(1-2)+4k) =3
@  7-2)+ak) =5 @ T(i-2%+ak) =5
@) 7(27-j+5t) = @ T(27-34s%) =3
=y A = AA A
4 r (21—j+5k] =5 “4) r (2£—j+5k) =5
A A A A A AA A N Pl .
25. If a, b, ¢ be three unit vectors, b and ¢ | 25. 3dfEa, b, c T FHHARIE, b T ¢ FHW
are non-parallel, such that & %, g fF
N Fa N Fa
;x(f;xz)=b+c, then the angle /a\x(gx/\):b;c%,?hgﬁ%g%f@‘a
A A
between a and b is: T IO E :
v o
W = -
27 27
@ 5 @ =
i ™
® 7 G 7
3 3
@ - 4
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26.

27,

A box contains 6 red balls and 2 black balls.
Two balls are drawn, at random, from it
without replacement. If X denotes the
number of red balls drawn, then E(X) is
equal to :

W >
i
@ 3
®
27
@ 25

A six faced die is so biased that it is thrice
likely to show an even number than an
odd number, when thrown. If the die is
thrown twice, the probability that sum of
the numbers on the die is even, is :

|

(1)

o | wu

(2)

VIR

®)

00| w

(4)

26.

27.

T TR H 6 7 WS & o 2 et A | v
H 9 S Argew, fa vl %, freme
st §1 A X Frepre T @ W9 = g
STl 8, & E(X) SR §

(1)

N W

M| =

)

()

N | o

@ =

Th YSHAHIT U &l 56 YFR g
(biased) ST 72 ¥ foF 30 Hep W ww
e M St WA, TF forew gEn ¥ ey
H G9ET & A T &1 9l wmn @ SR
ST T, q T W R w1 A T 9

3
1 3
@ 3
@ =
@ 3
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28. The total number of x € [0, 2w] which | 28. x¢€]0, ZW]ﬁf@Tﬂ@"{%@@ﬁiGﬁ'ﬂﬁw

satisfy the equation 4(cos10x + sin?x) =4 + sin®x sin?(2x) H
4(cos'%x + sin?x) =4 + sinbx sin?(2%), is : e I T, T EEen §

1) 2 (1 2

(2) 3 @ 3

@) 5 G) 5

4) 6 4 6

e o X : | —
29. tan[lm1—+—c031§]isequa1 29. tan[—sm1§+5c051%]ﬁ'{lﬁ'{%:

2 5 2 17 2 1
to':
M = M 2
2
@ 3 @ 3
4 4
®) 5 @G |
9
@ @ =
30. The Boolean expression 30. A (Boolean) &HSF (p A q) v ((~q) v p)
(PAQ v ((~q) v p)is equivalent to : % T ©
1) ~pvg 1) ~pvgq
(2 ~qvp (2) ~qvp
®) pvgq @) pvq
@ Cpv(a “ Cpv(a
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Aptitude Test / firafa adtgror

Directions : (For Q. No. 31 to 34).

T : (W31 @34 & fo7T) 1

Problem Figure [

7T SFI

31. L1

32. é

33. _:lj_::‘

34. [HT

Part I / YT 11

S

For the elevation given in the problem figure identify the correct
3-D figure from amongst the answer figures.

& Tt e ST F TG g H Tel3-D I SFAl 4 4
qEa4 |

Answer Figures / St STghfal

S @ @ &

(1) ®) (4)

d & & &

©) @)

@@@@

) &) 4)
1) € ©)
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Directions : (For Q. No. 35 to 37). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures,

fdvr: (w35 @37 % )i 3-D F¥7 3l # Qo a%g & UF 99 F fewrar 77 &1 s9E
el FW1 §¥9, I AFE 7 @ e
Problem Figure / Answer Figures / 30 STglia
F¥7 SHla
3 e ns i i »
(1) (2) ®) @
o = i
1) 2 @) (4)
¥ (] O H] 1
) @ 3) 4)

Directions : (For Q. No. 38 to 41). Find the odd figure out of the problem figures given below.
fRder: (W38 @41 % fw)) 719 & T 37 srFtEl 4 @ v sy veEti )

(1) (3) 4)

R/Page 15 SPACE FOR ROUGH WORK / 1% &/ & fog s



N g «

M @ (3) @)

v K14
(1) (2) 3) 4)
€)) (2) (3) 4)

Directions : (For Q. No. 42 to 47).  Which one of the answer figures will complete the sequence of
the three problem figures ?

AT (W42 @47 & @)1 SR A § @ F-H S B A I STF A 4 A
T 37 (sequence) X & S ?

Problem Figures | W¥7 STghfadl Answer Figures | ST STFHaal

TEXTREEE XX

(1)

R/Page 16 'SPACE FOR ROUGH WORK / % &g & foig se



Problem Figures | F%7 Shfaar Answer Figures / I SThfaar

« SO O8O0 g

(1) ) NE) @

w2 e GO &%

& @) ©) (4)
& —@’ ? @@@@
- (1) ) G )
- HSG + B B
@) @ 3 4

ARSI IDOROR

R/Page 17 SPACE FOR ROUGH WORK / T% &9 & faT s



Directions : (For Q. No. 48 to 53). Which one of the answer figures shows the correct view of tie
3-D problem figure after the problem figure is opened up ?

fdor: (W 48 €53 & g )i 3-D 397 rfa ) @ W I Faa 7 9 wEt o=
HIT-TE?
Problem Figure [ Answer Figures | IR JTHRral
7T SFHl
— o
7 3L 2L S L
48. - y’) : : -
| ] s ] ot
a e =

@ ®) @

|
|
]
|

TI
TTH
Bl
Bl

L1
L
hll

LIt

&2

(1) ( (3) (4

S

|
|
|
]

[ 1]
| 1

o] UM L

1) @ ®) (4)
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Problem Figure / Answer Figures | 3R STFHTAT
¥¥ STF

BRI
[T ]
T

o W 3

o o g o v f e A

1) @) (3) (4)

=l
y
=]
ey
josad
]
=
— |

S’

@) (2) ©) (4

.o U o i o)

(S
— — =

@ ) ®) (4)
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Directions : (For Q. No. 54 to 57). The problem figure shows the top view of objects. Looking in

the direction of the arrow, identify the correct elevation, from
amongst the answer figures.

Fdor: (9. 54 @57 & forg )1 T97 ST A AN B S v I T § 1 R F e

Problem Figure /

2@ gU IR FFad @ T8 THE 599 TeHd |

Answer Figures | ST STHa

J¥ SThid
7
54. g; é ﬁﬁ @
T (1) @ @) 4)
= |k I =T =
T () ) 3) @)
ss. |14 A A & &
! (1) @) @) @
- A A A A
1 (1) @) @) (4)
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Directions : (For Q. No. 58 to 61). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?

Ador : (7 58 W61 % w1 ST STFHTE § G BIT-H1 TPl & T 997 SFT FK - X G
GrIY GEl g9 Fidferd § 2
Problem Figure / Answer Figures | ST 37Ffaar
7T Sl
X
* 1) @ ®) @
1 T
AN 7 / ¢ / 5 ,
59. — a —
X
(1) (2) () *(4)
X

o (2

61.

X 1) (2) 3) _ (4)
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Directions : (For Q. No. 62 to 65). The problem figure shows the top view of objects. Looking

the direction of the arrow, identify the correct elevation,
amongst the answer figures.

fAdor: (.62 @65 & o) | T¥7 SHia 4 a&gei T F9 gV fearar 1 &1 @i #

Problem Figure /
97 3Fld

62. &OOED

—

63. |

ML
o
1

o ()

65. OOOO
T

3@ gT I SFad 7 T T§ Gy §vF TeTid |

Answer Figures | 3R STlaal

) (2)

[ih s [Eh [fh
(1) (2) ®) (4)

lm [

(B [lm

@) ®) 4)

e Ofn db i
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e SIS s asc T

66. Which out of the following is the country | 66.
called the “Roof of the World” ? FEa 8 2
(1) Japan (1) ST
(2) Tibet (2) foesa
(3) Mongolia (3) vt
(4) Uzbekistan 4) SSfHEH
67. Which one of the following has a better | 67. F=H¥ B W TH JgR Y AE § 7
insulation value ?
(1) A concrete wall (1) U ki &l SoR
(2) A brick wall 2) TH 3 H ER
() A cavity wall (3) T TR EER
(4) A stone wall (4) T&F TR &l Sar
68. Which one of the following is a renewable | 68. fTEfaRad H W HF-F il =1 8@ T 7 2
source of energy ?
(1) Coal (1) e
(2) Natural Gas () o
(3) Ocean waves (3) WRMINR wi&
(4) Oil (4) @
69. Charles Correa was which of the | 69. =cd e Frfafed | '@[-T#H q?
following ?
(1) A British Architect (1) T fofew argsr
(2) An Indian Architect 2) UH YR AEGHR
(3) An American Architect (3) TH ARG ARGHR
(4) A Brazilian Architect (4) TH TSI ARGHR
R/Page 23 SPACE FOR ROUGH WORK / % &1d & fog s



70. Who amongst the following is not a | 70. freifafen # d H T AT TIHR T ¢ 7
qualified architect ?

(1) Remo Fernandes 1) e
(2) Arundhati Roy (2) Ul T
(3) Satish Gujral (3) (e TSI
(4) B.V. Doshi (4) . e

71. Ellora group of temples represent which | 71. TR TE R e | 9 R 5 afaffue

of the following ? | AR ?

(1) Hindu Religion 1 FRee
(2) Buddhist Religion Q) 3w
(3) Jain Religion = () S uH

(4)  All of the above (4) IR Wit

72, Parthenon is located in which country ? | 72. W fFw Sw  feem ©72

(1) Romania (1) i
(2j Russia 2 9

(3) Greece (@) u§

(4) Japan | (4) STH

73. Which of the following is equivalent to the | 73, Freifefed # & I 1 SR H Aol TR

Nobel Prize in architecture ? F AR E? s
(1) Academy Award (1) STHIGHI &R

(2) Padma Shree () T

(3) Pritzker Prize (3) oot I&hR

(4) Star of Architecture @) anﬁw Rt
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74. An escalator looks like which one of the | 74. e T@heiet Frfiefag & Q formes S femman

following ? g2

(1) Ladder (1)

(2) Staircase 2) W (=TFE)

(3) Ramp @ W

(4) Lift (4) faw
75. Who amongst the following is an | 75. fretffan # & uw argem 2 22

architect ?

(1) Vikram Seth (1) fomrm 93

(2) Lauri Baker (2) o d

(3) Khushwant Singh (B) wvEq fug

(4) Ruskin Bond (4) e ot
76.  Burj Khalifa is located in which one of the | 76. 3 @it firg 237 3 feom 82

following countries ?

(1) Saudi Arabia (1) e 3E

(2) Dubai 2) T

(3 Turkey @) g

(4) Afghanistan (4) STEmEE
77.  Which of the following is the most striking | 77. Fr % § %7 @ fast sity =rsa 3 wad

feature of the Sydney Opera House ? Tyl o 7 2

(1) Entrance Hall (1) vawga | |

(2) Interior Design (2) onidR= fewma

(3) Sail shaped roof (3) R SR F T Hl

(4) Location (4) =W 'L{L
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v |

78. Which one of the following is an odd | 78. T # ¥ I T T ST FA €2
combination ?
(1) Forts and Jaipur 1) fod SR AR
(2) Lakes and Udaipur ) e 3R SR
(3) Temples and Madurai (@) R 3R w3t
(4) Rain and Kutch (4) o R w=D

79, Tsunami is a result of which of the | 79. i = Frt & Y form =1 aRom § 2
following ?
(1) Sea storms (1) WIRTHH
(2) Earthquakes in coastal areas 2) wE EGEIR A G
(3) Earthquakes in the sea bed (3) WHR @@ H oY
(4) Strong ocean waves (4) E HIEI Tl

80. Chandigarh was planned by an architect | 80. <STe @1 T argHR gR FrRifsE o
who was which of the following ? ot i freferfia & & o :
(1) American (1) i
(2) French 2 W
(3) German @) s
(4) Australian @) sirefaad

-000- -000-
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Read the following instructions carefully :

fFrefafiaa FEer s & 03 :

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part II (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part II, % (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if no response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
orwriting work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet,

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test- Part]
& 11 and Drawing Sheet of Aptitude Test-Part Il to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required toput their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part1 & II.

7. Use of Eléctronic/Manual Calculator or drawing
instrumments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No partof the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as

; given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile pHone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.
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